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QUESTION 1

You are designing an IP fabric ASN scheme using EBGP.

What are two acceptable ranges in this scenario? (Choose two.)
A.0-512

B. 100001 — 199999

C. 64512 - 65535

D. 4200000000 — 4294967294

Correct Answer: CD

QUESTION 2

You must implement high availability features in the design for a data center. Every network device in this design will
have dual routing engines.

In this scenario, which two high availability features should you use? (Choose two.)
A. GRES with NSR

B. GRES with NSB

C. NSR with graceful restart

D. NSR with NSB

Correct Answer:. AB

QUESTION 3

Two data centers must be able to operate with a stretched Layer 2 network. You are concerned about unnecessary
traffic on the Data Center Interconnect (DCI). You do not want packets to trombone over the DCI, have excessive
unknown unicast packet flooding over the DCI, or have excessive ARP flooding over the DCI.

Which technology satisfies the requirements in this scenario?

A. EVPN

B. IPsec

C. VPLS

D. GRE over IP

Correct Answer: A
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QUESTION 4

Which statement is correct about end-of-row (EoR) access switch designs when compared to top-of-rack (ToR)

designs?
A. Large EoR designs provide more flexibility for connection types.
B. EOR designs require fewer cable connections to all servers.

C. EoR designs typically provide fewer access devices to manage.

D. Large EoR designs minimize the overall cable length required to connect to all servers.

Correct Answer: C

QUESTION 5

Click the Exhibit button.

Leaf
Devices

I I

I

Referring to the exhibit, which two statements are true? (Choose two.)

A. You should use CoS multifield classifiers for traffic leaving the leaf devices and going to the spine devices.
B. You should use CoS BA classifiers for traffic leaving the spine devices and going to the leaf devices.
C. You should use CoS multifield classifiers for traffic coming into the leaf devices from the servers.

D. You should use CoS BA classifiers for traffic coming into the spine devices from the leaf devices.

Correct Answer: AB
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